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The figures in the margin indicate full marks

for the questions
1. Answer the following questions : 1x10=10
OO ST e fe
{a) Write one use of Edgeworth box
diagram.
gweyy 379 (I155) Fag b1 a2 ot |

{bp) What is contract curve?
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(2)

Define pure public good.
#FS e TR IR A |

What is degree of monopoly power?

GOBA IR Mfes W@l 2

In which market, there is selling cost?

@I G [{RF I7 A 7

What is meant by strategy of a game?

G (3o (e Joreat 6 o 7

Define signalling in a market.

IHRT ALFSA TR fordn |

What is duopoly market?
PR IS & 2

What is meant by asymmetric
information?

e o Jferce & 3 2

What is non-zero-sum game?

- - G (3T 16 2
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(3)

2. Answer the following questions : 2x5=10

woq 2PCAed Teq e

(a)

(b)

()

(d)

()
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Define two types of externality.

2 @[ Fifdreer Age ford |

Distinguish between perceived demand
and proportionate demand.

Wspmﬁmwmﬁﬁﬁsﬂfiﬁﬁwm@
foran |

Define Cournot’s oligopoly model.

e e B e e |

What is market efficiency?
Tw[ el 2

Distinguish between minimax and
maximin strategies in game theory.

7 ogg ffRmE wF @RifE (e TS
ofrefey fora |
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3. Answer any four of the following questions :
5x4=20
o RIS R Il BiRoR T gy

(a) Explain the concept of production
possibility frontier.

TR FSEO ([FL[ LRECH! AN 4T |

(b) What are the characteristics of public
goods? Explain.

Jreed] @99 CAMEPTR 1 1 2 1 9 |

(c) Explain Lerner’s measure of degree of
monopoly power.

IS C s E MR T 013 e e i e B e £ R L T
BRI

(d) Explain how the saddle point is
obtained in a two-person zero-sum
game.

B -a@n (F e [ @oma
Toferd =, 190 91 |

fe) Explain the concept of dumping in

a market.

JHES T YFCH] TN 47 |
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4. Answer the following questions :

(S)

Is price discrimination under monopoly
desirable? Support your answer.

G IEES W Reeniesd I 2 (SN
Tes T e woefia |

Woq PR Beq ey

(@)

(b)
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Explain the conditions for Pareto
optimality.

CAICTS" ST T BT T 471 1
O/ S

Explain why there is no supply curve
under monopoly. Briefly explain any
two methods of regulating monopoly

power. 4+6=10

GO IGAS @ @9 W [, wE
911 «qesloar e g $37 R @ o
TS B 7 T4 |

Explain diagrammatically the Bertrand’s
model of duopoly equilibrium.

IGYT AR SwE SRS faw e
IR 4 |
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(d)
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or / 7

Explain how a firm under monopolistic
competition attains equilibrium both in
the short and long run.

PR AN WS 61 AV (A
TN WE EIEE SISl e F,
A 4 |

Write notes on adverse selection and
moral hazards which may arise due to
information asymmetry with examples.

5+5=10

TR 0 SRS oY FECT TRAH @RI
e S o AfeT Refed efs G
forn o

Or / F

Explain the market equilibrium process
in case of a multi-plant monopoly.

VAT IO IWEO GRS
fRefraer stfen mam #4401

Diagrammatically explain how
externalities in  production and
consumption lead to market failure.

Teo WE (opE ARRSR @FemE I@H
fagerel AR 73, BT ST=TS A 341 |
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Or / T

Explain  how optimum  resource
allocation can be obtained with the
help of production possibility frontier
and social indifference curve.

Beoi SRS (@31 S e e (¥R
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